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« Please check that this question paper contains 11 printed pages.

« Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

« Please check that this question paper contains 30 questions.

« Please write down the Serial Number of the question before attempting it.

« 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 a.m., the students will read the

question paper only and will not write any answer on the answer-book during this
period.
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General Instructions :

(i)
(ii)
(iii)

(iv)

v)

All questions are compulsory.

This question paper consists of 30 questions divided into Jour sections — A, B, C
and D.

Section A contains 6 questions of I mark each. Section B contains 6 questions of
2 marks each. Section C contains 10 questions of 3 marks each. Section D
contains 8 questions of 4 marks each.

There is no_overall choice. However, an internal choice has been provided in
two questions of 1 mark, two questions of 2 marks, Jour questions of 3 marks
each and three questions of 4 marks each. You have to attempt only one of the
alternative in all such questions.

Use of calculator is not permitted.
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Question numbers 1 to 6 carry 1 mark each.

1.

QA I ¢ A b, a=x3y? AT b= & ¥ 7 forg o1 @ 8, wEl oy,
ST HEAw &, @ .9, (LCM) (a, b) 1 4 37 Hifvre |

Two positive integers a and b can be written as q = *y? and b= 3. x,y
are prime numbers. Find LCM (a, b).

<1 3 i et gt 3 @ weg 7

How many two digits numbers are divisible by3?

Ff 16, DE|[BC, AD = 1 8t a1 BD = 2 i 2
(A'ABC) @1 (A ADE) % 8 & a1 T 8 7 B 5

TR 1
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In Fig. 1, DE||BC, AD =1 cmand BD =2 cm. A
What is the ratio of the ar (A ABC) to the

ar (A ADE) ? % "
B
Fig. |
U g 8@ F% (2, -3) ®, F1 UH 4™ AB ? | 3 fig B & fdwms (1, 4) E @t
forg A % facamen e Ao |

Find the coordinates of a point A, where AB is diameter of a circle whose
centre is (2, —3) and B is the point (1, 4).

ko To ATl o fore wfteor x2 + dx + k = 0 % He aredters g 7

HAYET

k =1 98 | J14 hifoe, Foraeh fore wfietor 3x2 —10x+ & =0 & qof Th-g@l &
wferer & |
For what values of &, the roots of the equation x* +4x+k =0 are real?

Or

Find the value of k for which the roots of the equation 3x> —10x+k =0 are
reciprocal of each other.

If3 tan 2A = cot (A —24°) 2, @ A I A F1a Ffew |
HUAT
(sin? 33°+sin2 57°) 1 A 1 AT |
Find A if tan 2A = cot (A —24°)
Or
Find the value of (sin® 33°+sin? 57°)
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Question numbers 7 to 12 carry 2 marks each.

7.

10.

11.
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Find, how many two digit natural numbers are divisible by 7.
Or

I£ the sum of first n terms of an AP is n*, then find its 10th term.
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A game consists of tossing a coin 3 times and noting the outcome each time. If
getting the same result in all the tosses is a success, find the probability of
losing the game.

fagatt (1, - 3) @ (4, s)ﬁﬁaﬁm%@@u@,xmamﬁnwmﬁ
ﬁwﬁa@m%,%mﬁmlx-aa%wﬁg%ﬁmﬁmﬁmi

Find the ratio in which the segment joining the points (1, — 3) and (4, 5) is
divided by x-axis ? Also find the coordinates of this point on x-axis.

@mﬁﬁ@wmwmwmﬁw%aﬁaﬁ(mzwe%aﬁa
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" A die is thrown once. Find the probability of getting a number which (i) is a

prime number (i) lies between 2 and 6.
}

¢ %1 O 1d shifore, afe wHieR e ox+3y+(3-0)=0; 12x+¢cy—c=0 %
 ayqfefid w9 8 SHF EA € |

Find ¢ if the system of equations ex+3y+(3-c)=0; 12x+cy—-c=0 has

infinitely many solutions ?
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12. gfFs weiien % A0 & 1260 @ 7344 %1 WEGH GHEds (HCF) Id
Hifor |
FHUYAT
avtten f geis forem GAQUITE (4q +1) AT (4g+3) ¥ &9 &1 o1 8, Tl ¢
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Find the HCF of 1260 and 7344 using Euclid’s algorithm.
Or
Show that every positive odd integer is of the form (4g +1) or (4g +3), where
g is some integer.
Qus - ¥
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Question numbers 13 to 22 carry 3 marks each.

13. 3x3+10x2—9x~—4%Hﬁwmﬁﬁq,ﬁﬁmﬁﬁﬁﬁl%l

Find all zeros of the polynomial 33 +10x% —9x—4 if one of its zero is 1.

(4. s &t e 3 v gu A 8 At et o S PQ R | P 3T Q W T3} T TEH
@WTWWM%I(&@%zﬁQTPﬁW%ﬁﬁm

P
5 gt
T 0
Q
SR 2

PQ is a chord of length 8 cm of a circle of radius 5 cm. The tangents at P and
Q intersect at a point T (see Fig. 2). Find the length TP.

P
|
gl \5cm
(5]
T = 0]
Q
Fig. 2
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15.

16.

17.

18.

Rrg AR e 2+5*/5 o S T &, B U5 o et g

+43
5

Prove that is an irrational number, given that +/3 is an irrational

number.

g fifse for (sin 8+ cosec 0)? +(cos@+secH)? =7+tan’ 0 +cot2 0.
HUAT

forg #ifsie fas (I+cotA—cosecA)(1+tan A+secA)=2

Prove that (sin 0+ cosec 0)” + (cos 0+ sec0)? = 7 + tan2 8+ cot? 0.

Or
Prove that (1+cotA —cosecA)(1+tan A +secA) =2

T i S g S A = Y g F AN F T F wwE R 5 % geer
TR g w= A I F A F g % guE A fre S 9
#ifer |

HUAT
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A father’s age is three times the sum of the ages of his two children. After 5
years his age will be two times the sum of their ages. Find the present age of
the father.

Or

g 1 ) :
A fraction becomes 3 when 2 is subtracted from the numerator and it

1 . : ! :
becomes 3 when 1 is subtracted from the denominator. Find the fraction.

y-318 1 g foig 31 <RIfSre St feigadf (5, —2) @em (-3, 2) & wwqma 2 |

Jrerat
fagati A(2, 1) @@ B(S, -8) 1 fiei aren Tamave figedt p aar Q w anfiviom
B @ Safe P fag A % fhe 81 AR P, 2x— y+ k=0 g0 ved Yo W oft fRm
2, @ k %1 7 F1d i |
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Find the point on y-axis which is equidistant from the points (5, —2) and
(3, 2).

Or
The line segment joining the points A(2, 1) and B(5, —8) is trisected at the
points P and Q such that P is nearer to A. If P also lies on the line given by
2x—y+k=0, find the value of k.

19. e ST SieA T Sges 1d hifere |
it 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70

AT 8 10 10 16 12 6 7

Find the mode of the following frequency distribution.
Class 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70
Frequency 8 10 10 16 12 6 7

20. 6 T =S o 1.5 H el Tk TR H 9l 10 feft/aar i S A TR W21 30
ﬁ%ﬁ,%m%ﬁmsﬁ%ﬁmm,mw%ﬁmsﬁﬂﬁ
art Y ST Bl # |

Water in a canal, 6 m wide and 1.5 m deep, is flowing with a speed of 10
km/hour. How much area will it irrigate in 30 minutes; if 8 cm standing water
is needed ?

21. sk 3%, £ ACB =90° @1 CD L ABR, frg ifsre fo CD? =BD xAD.
C

D

AT 3

rera
gfe P qem Q HA: AABC’ﬁgﬁTaﬁCAHﬂTCBW@Hﬁ‘g%HW ® & o
T 2, ot firg iR B (AQ? +BP?) = (AB? +PQ?)
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22.

In Fig. 3, £ ACB =90° and CD L AB, prove that CD?> = BDxAD.
C

-

D
Fig. 3
Or
If P and Q are the points on side CA and CB respectively of A ABC,
right angled at C. Prove that (AQ? + BP?) = (AB* + PQ?)

ATFfa 4 |, SR & 1 &3%a J1d A, af8 ABCD wh smaa @ frgeh
ST 8 &t qT 6 et isft & qun O 9% 1 g R | (n = 3.14 fifsw)

Find the area of the shaded region in Fig. 4, if ABCD is a rectangle with sides
8 cm and 6 cm and O is the centre of circle. (Take = 3.14)
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Question numbers 23 to 30 carry 4 marks each.

23. G sec = x+zl;,x¢0, al (sec 6 + tan 6) 3a FfST |

Ifsec O = x+%,x¢0, find (sec 6 + tan ).

24. Thg FfS o 3t waET Bfsil & &wel o1 STgUTd 3790 T TS o ST %
T 3 e g § |

Prove that the ratio of the areas of two similar triangles is equal to the square
of the ratio of their corresponding sides.

25, Trafafiaa e et B 3 50 sfirni 6t 2 sma aofar 21

e o (TH) 200-220 | 220-240 | 240-260 | 260-280 | 280-300
gftent it gemn 12 14 8 6 10
I o2 ! U o FH JHR & Goil SRERAl s | qefore a2 I Ry
i |

ST
Hier &t 8 anferert foRet sormeR & 25 uiEwl 1 @ veref W e wd gl R |

W et 1 & 31 @ 1 hif |
e @) 100-150 | 150-200 | 200-250 | 250-300 | 300-350
gftar it g 4 5 12 2 2

The following distribution gives the daily income of 50 workers of a factory.
Daily income (inX) | 200-220 | 220-240 | 240-260 | 260-280 | 280-300
Number of workers 12 14 8 6 10

Convert the distribution above to a ‘less than type’ cumulative frequency
distribution and draw its ogive.

Or
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26.

27,

28.

The table below shows the daily expenditure on food of 25 households in a
locality. Find the mean daily expenditure on food.

Daily expenditure 100-150 | 150-200 | 200-250 | 250-300 300-350
(in%):

Number of 4 5 12 2 2
households :

T s ABC i = fifsme formd CA = 6 Ui, AB = 5 4 41 /BAC = 45°
& m@mﬁaﬁﬁmﬁﬁqfﬁaﬁgﬁaABcﬁWWaﬁmg
AT |

Construct a A ABC in which CA = 6 cm, AB =5 cm and Z BAC =45° Then

construct a triangle whose sides are % of the corresponding sides of

A ABC.

F & 55 % SR A IR Gel e a1 12308.8 =7 9t 3|
T Sl qent freet oo Rt ) feamt s 20 Gt @91 12 9t B | aredt
TS AT §H S 8 ) YTg bl STGT T Sha T Fife | (m = 3.14 =fifsm)
A bucket open at the top is in the form of a frustum of a cone with a capacity

of 12308.8 cm?. The radii of the top and bottom of circular ends of the bucket
are 20 cm and 12 cm respectively. Find the height of the bucket and also the
area of the metal sheet used in making it. (Use & = 3.14)

Ioorﬁﬁwmmﬁgwmﬁéwgwwﬁmﬁqﬁmm
%ﬁ]@t%wﬁwﬁsmé30°W§ww%fnﬁauﬁﬁwﬁmﬁ

=T T SHIToT | [J§=1.732?ﬁf%nzj

Jrera
T 80 rﬁiﬁsﬁm%ﬁﬁmﬁ—mwiﬂﬁaﬁadﬁaﬁgﬁlﬁ
3l @l 3 oftr Trewh % w fiig & @it ¥ R % g o e 60° 3 30°
& | @l ot e aiv @il & g 91 5 7 B |

A man in a boat rowing away from a light house 100 m high takes 2 minutes
to change the angle of elevation of the top of the light house from 60° to 30°.

Find the speed of the boat in metres per minute. [Use Y3=1 .732]
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29.

30.

30/1/3 11 [P.

Or
Two poles of equal heights are standing opposite each other on either side of
the road, which is 80 m wide. From a point between them on the road, the
angles of elevation of the top of the poles are 60° and 30° respectively. Find
the height of the poles and the distances of the point from the poles.

21 T & T U W1 TH 3F 1% a1 7 9T A & | T A Al A o

wﬁﬁ,mmmﬁwﬁzﬁmwm%imwmwﬁhﬁ
T o1 GHA T hIT |

FreraT
wF A 10 T H G o gidsket 30 Foreft den aw % SRS 44 Tl Tl ®1013
3 7 7w 40 Pt aRT % SRt T 55 R a0 STEe S @ | R R =
o1 =19 i fRR st § =1 J1d AT |

Two water taps together can fill a tank in 1% hours. The tap with longer

diameter takes 2 hours less than the tap with smaller one to fill the tank
separately. Find the time in which each tap can fill the tank separately.

Or
A boat goes 30 km upstream and 44 km downstream in 10 hours. In 13 hours,
it can go 40 km upstream and 55 km downstream. Determine the speed of the
stream and that of the boat in still water.

2f s T A & WA W GG H1 AN 40 B qUT FAH 14 9&1 %1 AT 280 & |
=0 St % TUH p T&T 1 AT J1d BT |

If the sum of first four terms of an AP is 40 and that of first 14 terms is 280.
Find the sum of its first » terms.
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